CSP[ I-[] iIBES. BEE 12t I 14

b3 &
KN
00 :CsOo0o
o A BHUIBEE ™ XA IHZHEA
CSP RiER] :CSH01. 03 _ BB (N FBER) HIRR
02 :CSOo04 C EE%E VBB EEEA.
06 :CSO06
B EE g E
sl
21
Eg mgw |
= <
) o AD o
N\
[HENE| -
[[[]] 2 2 R
oo T ©
= ESAED 2
S ] w AP 82
csp 4-91.6%. <
(90" [26)
—— = mEEO
Y G1/8
ZEE I
BRI EE
model CSPC]-A
oALFL
= W
% } BaW f ) z
= 7/7 ]
s nif. % =
v | 2 < .
g = =
= s o
BT
ORH * ‘
- s AM
REE
model CSP]-C

% ETH#EHEAE—BEENOVE, BEEAREERRE

<o

334




CSP[-[] IBEZ. BEE 19 T 14
mm
BiEEE CSP00-A CSP-A CSP02-A CSP06-A
THEHE CS[J00-0 Ccso1-0 CS[103- CS04-[ CS[J06-]
C 63 48 69 65 78
3 4 4 4 4
W M26X 1.5 M30% 1.5 M30% 1.5 M36X% 1.5 M45% 1.5
AA 33.7 16.7 37.7 31.7 42.4
AB 13 13 13 15 16
AC 7 8 8 8 9.3
2AD 28 32 32 38 47
X F L% #8model CSKE AT, CR~TEZEM L4772,
mm
BEE CSP00-C CSP-C CSP02-C CSP06-C
THEHE CS[J00-J Ccso1-0 CS[103- CS04-[ CS[J06-]
W M26 % 1.5 M30X 1.5 M30X 1.5 M36X 1.5 M45X 1.5
AE 72 57 78 74 87
AF (31 %8) 29 32 32 41 50
0AP 32 35 35 45 54
X F L% #8model CSKEART, AERSHEZEmM L1772,
mm
BB EE CSP00-A CSP-A CSP02-A CSP06-A
REE CSP00-C CSP-C CSP02-C CSP06-C
THEEE CS[100-0J Cs01-0 CS[103-0J CS[J04-[7 CS[J06-[]
W M26% 1.5 M30X 1.5 M30X 1.5 M36X 1.5 M45X 1.5
AE 72 57 78 74 87
AG 48 32 53 47 58
AH 26 11 31 25 36
AJ — — 24 - 26
AK - - 17 - 16
oAL - - 30.5 - 455
AM - - AN06 - ANO9
AN - - 7 - 10
XF L% 8 model CSKEART, AERSHEZEmM L1772,
EFIYIBEEMAG. AH. AJ. AKR~TEI/NG mm.
AR PR B AM
XF CAD XU THESEHER, B HMEETFMIT www.pascaleng.co.jp

it IR
BT S S

Csp

335



CSPL -D fig & 18 4
&
model CSPJ-D fii & i
N
00 :CsOoo
28 :CSOO01. 03
CSP - D f&EHR
04 :CSO04
TR
model VCFO1S 06 :CSO06
i PR N4 CSP-DRY R & B 5VCFO 1 SELE -
A, TRMAECSN, CSYRTH THZBBERERT
BT EEEF A SERE ?.E 4
TRETE T iE
RERST
THxES
CSN _
modelggl & > ©
£ s ©)
£23 model CSP[J-D = =
mm =
= CSP00-D CSP-D CSP04-D CSP06-D 216
L* 83 69 90 86 99 B
TR 6.5 6 8 8 10 [___model VCFO15
CSNOO | CSNOT | CSNO3 | CSNO4 | CSNO6 VIRl )
csp HREHE THZZRE  Gsvoo CSY03 | CSY04 | CSY06
model VCFO1S = CSK0O | CSKOT | CSKO3 | CSK04 | CSK06
HIE—H S 3400 % ICSKEIM, A+HTRRT.
ERERERE R E R G2 LI FiL & R 4 Rl
© © a
% %
j = =
2 il il D
co2— o2— 22— o2—
PR
- NN Nl (LA A N
i NI i
i i i i
BEIL e HE HE HE HE
mm
#H = CSP00-D CSP-D CSP04-D CSP06-D
Max. A 27 12 32 26 37
Max. B - - 25 - 27
Max. C - - 18 - 17
. CSNOO CSY00 CSNOT CSNO3 CSY03 CSNO04 CSY04 CSNO6 CSY06
v oe ) o
LS e CSK00 CSKO1 CSK03 CSKo4 CSK06
NGRS

FEFRIEHPIRT>1ESB3220 (CSN). 3241 (CSY). 33071 (CSK). %334. 3370,

336




CSP[L I-D g & R
IMERTHE
BEILEOO
M5X0.8 iR5
4-0GIBFL oK
27 oHR) ‘
i HEEO® G1/8

(RRI RFEREFEFE)

1 W
RRFLMIE

SERE#EOMax.07

B v
s
S 6}
GIBLTIE L
3.8
EAERNEER, ZEmARARDAREN
HEZEOOG1/8 R
(A=) GIBSIHE Sk T 7ERz6.350 .
BELW
| oC | oV 5o
X ‘ =
B
T/Q?/’__“‘\géé\\f? ol — O *
~ P1 ST M5H LR
(e i[ — | =
W | y 7 S
= . = W =)
L] 1 Al -
X 0.5 9 05 2 csp
X-X
X ETHHTESAK—EBRNOKLE, BAEFEH
il B &3,
O BP9 MAEsL
T 1 mm
@ @ HEEOG #H = CSP00-D CSP-D CSP04-D CSP06-D
A 36 38 45 55
OF P9 -
B 27 29 34 44
] w oC 29 32 38 50
(i} {:} D 7 7 9 10
E 9 11 13 16
N D s
M5 . JBSAEOD F 18 19 225 275
oG 45 45 55 55
oH 8 8 9 9
J 9 9 12 12
O BRI B A &G (BEHS90).
oK 48 50 60 75
N R
MM M4x0.7 | M4x0.7 | M5%0.8 | M5X0.8
TIHDA. VIBEBAREMNBRILENN, 1BHITERE.
oV 24.5 28.5 34.5 435
BEF N EMERNEOELEER.
w M26X 1.5 M30X1.5 M36X1.5 | M45x1.5
FHAERAEER, BEFTRMESILEOOMMSEL, RiF e R R - —
ZEIMTBESAEOO L. nE <bKg | Veokg | BS0k9 | BocKg
_ \ \ R 35~45 | 40~50 | 45~55 | 55~65
HEZOOARAERRERH . % [ 1 46 N-m N-m N-m N-m
KT CAD XU THEEHIEH, 5RMEHFMTT www.pascaleng.co.jp 337




CSP_-F E=R 18 4
E = 8
REE
model CSP[J-F Joh
\ 026 :CSO00
030 :CsSO01. 03 .
CSP - F =8
036 :CSO04
045 :CSO06
AigR RN, BEAEZE.
SIMERSTHE REILMTE
E=& CIA
model CSP[J-F
4-E LB
& V. \
& (O =)
4- oD
THFER o
model CSN, CSY, CSK . < PAR Yy _
RIER é VA Qs OFE
CSP Rz6.3
RER (@]
r# model CSP[]-F +f2\
K
Jt BEERED \w
[] ?2.6~3 Max. @9

-

OREZRTEFELD.

K E5IHIERFE—EBENORKE,

NP T 3 iR A

FEFRIEHHRT>1ES 83220 (CSN). 3247 (CSY). 3307 (CSK).

BEEAEZENTE.

QOB It ERER.,
mm

i CSP026-F CSP030-F CSP036-F CSP045-F

A 35 40 50 55

B 26 31 40 42

C 17 16 16 18
oD 5.5 5.5 6.8 9

E a3 3 3 C4

F M26 X 1.5 M30X% 1.5 M36X 1.5 M45x% 1.5
2AA 245 28.5 34.5 435

AB 3 3 3 3

AC M5 M5 M6 M8

VA 9 11 13 16
RE 0.09 kg 0.11 kg 0.18 kg 0.18 kg

338




